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4-13. Teams will have different equations from problem 4-10. Possible solution is predicted
‘weight = —132 + 2.3(471) =951 g; residual =1020-951=69 g

4-14. See below:
a. %1005 + (<132 + 2.3(600)) %1005 + 1248 % 2253 grams

b. Statistical models often cannot be extrapolated. We have no reason to believe that a very large box will
‘behave like smaller boxes because we have no observations near 600 in” to base our model on.

4-15. See below:

a. A negative residual means that the actual amount of sugar is less than predicted by the model; negative is
better.

b. Slope = 0.23; We predict an increase of one calorie will result in an increase of 0.23 grams of sugar.
y-intercept =—16.9; A cereal with no calories will have negative grams of sugar. Again, the statistical
‘model cannot be extrapolated.





